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1. Series and Parallel Combinations
For the resistor networks shown below, find an equivalent resistance between the terminals A and B using
the resistor combination rules for series and parallel resistors.
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2. Voltage and Current Dividers

(a) For the circuit below, find the voltage Vout in terms of the resistances R1 R2 and Vs.
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(b) For the circuit below, find the current through R2.
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3. KVL and KCL

For the circuit shown below, Vs = 5V , R1 = R2 = 4kΩ and R3 = R4 = 2kΩ.
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(a) For the circuit above write KVL equations for each loop and KVL equations for each node.

(b) Solve for the voltage between A and B using resistor combination rules and divider rules.
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